
Opti 503A Solutions 1/1 
 
Problem 9) 

a) 𝑓𝑓(𝑧𝑧) = tan−1(𝑧𝑧)     →      tan 𝑓𝑓(𝑧𝑧) = 𝑧𝑧     →         sin 𝑓𝑓(𝑧𝑧)
cos𝑓𝑓(𝑧𝑧)

= 𝑧𝑧     →       �𝑒𝑒
i𝑓𝑓 − 𝑒𝑒−i𝑓𝑓� 2i⁄

�𝑒𝑒i𝑓𝑓 + 𝑒𝑒−i𝑓𝑓� 2⁄
= 𝑧𝑧 

 →   𝑒𝑒
i2𝑓𝑓 − 1
𝑒𝑒i2𝑓𝑓 + 1

= i𝑧𝑧        →               𝑒𝑒i2𝑓𝑓 − 1 = i𝑧𝑧𝑒𝑒i2𝑓𝑓 + i𝑧𝑧                  →     𝑒𝑒i2𝑓𝑓(1 − i𝑧𝑧) = 1 + i𝑧𝑧 

 →  𝑒𝑒i2𝑓𝑓(𝑧𝑧) = 1 + i𝑧𝑧
1 − i𝑧𝑧

    →          i2𝑓𝑓(𝑧𝑧) = ln �1 + i𝑧𝑧
1 − i𝑧𝑧

� = ln �i − 𝑧𝑧
i + 𝑧𝑧

�        →      𝑓𝑓(𝑧𝑧) = −�i
2
� ln �i − 𝑧𝑧

i + 𝑧𝑧
� 

 →   𝑓𝑓(𝑧𝑧) = �i
2
� ln �i + 𝑧𝑧

i − 𝑧𝑧
�. 

b) 𝑓𝑓(𝑧𝑧) = tanh−1(𝑧𝑧)    →    tanh 𝑓𝑓(𝑧𝑧) = 𝑧𝑧   →      sinh𝑓𝑓(𝑧𝑧)
cosh𝑓𝑓(𝑧𝑧)

= 𝑧𝑧     →       �𝑒𝑒
𝑓𝑓 − 𝑒𝑒−𝑓𝑓� 2⁄

�𝑒𝑒𝑓𝑓 + 𝑒𝑒−𝑓𝑓� 2⁄
= 𝑧𝑧 

 →   𝑒𝑒
2𝑓𝑓 − 1
𝑒𝑒2𝑓𝑓 + 1

= 𝑧𝑧            →               𝑒𝑒2𝑓𝑓 − 1 = 𝑧𝑧𝑒𝑒2𝑓𝑓 + 𝑧𝑧                   →     𝑒𝑒2𝑓𝑓(𝑧𝑧)(1 − 𝑧𝑧) = 1 + 𝑧𝑧 

 →  𝑒𝑒2𝑓𝑓(𝑧𝑧) = 1 + 𝑧𝑧
1 − 𝑧𝑧

        →               𝑓𝑓(𝑧𝑧) = ½ ln �1 + 𝑧𝑧
1− 𝑧𝑧

�. 

 


